Gl

PTZ E 5B RWH

TP-900
R o 15" monitor with integrated dvPrompter Plus software
s w7 X Adjustable Lift
IR AR/ B = R N/A
English
Dutch
Spanish
XIRZ MRS Portuguese
Russian
Chinese(Traditional)
Chinese (Simplified)
Width: 535mm
PR R Height: 590mm
Depth: 350mm
LCD Native Resolution 1024x768
LCD Brightness 350 NIT

* Monitoring and control via LAN

TR *QOptional WR-500 wired hardware remote or FS-30 Foot Pedal
*Supports generic presentation remote controls with USB receivers

HiE 10.3Kg

AR 0~40 °C

Power 12V DC (Mains adapter supplied)

PoE (optional adapter required)

Carry Case Dimensions
(excluding handle)

N/A



https://datavideo.com/hk/product/TP-900

B

1 x 15” LCD Control Unit

1 x 12V universal Mains PSU

1 x USB Mouse

1 x 5m Ethernet Cable

1 x 3.5mm input adapter for WR-500 remote control

1 x TP-900 metal base tray with tripod plate

1 x 150 x 150 PTZ Scissor Lift

1 x Cloth Hood

1 x M4 CRV hex tool

1 x 9mm long % thumb screw with red dot

1 x 9mm long % thumb screw with washers

8 x M6*40mm screws

10 x M6*14mm screws

1 x 16mm long screw

1 x 3/8 to Y2 adapter

4 x 565mm Vertical extrusions

2 x 475mm horizontal extrusions with 90 degree joining blocks
2 x 325mm glass support extrusions with single end caps

2 x 250mm PTZ lift extrusions with both end caps

1 x 70/30 mirror glass

1 x Glass support bar

2 x Spare black extrusion end caps

2 x Spare M6*14mm screws

2 x 12V regulated DTap cable

1 x Small CRV hex tool to remove the tripod plate from item F
1 x Medium CRV hex tool to remove 90 degree joining blocks from item

Q




